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(1) 565 =0 THL I L &Rl
(2) 355 =0 THd I LrerLndn,
(3)5=0ThobIrrLA,
RERE 7.2. (% 1) C[X]/(X? —49, X% — 15X +56) IcBJ 5 p € C[X]
DI T A p bELILICTDH, Dk E,
(1) X2-49 = 0, D> X2-15X+56 = 0 THDLZ & HR L%
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(3) X° % T2 EUMBATACH S LS 1,
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mE W,
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(2) X2 4+3Y +7XY ZHZIZICE LRI,
(3) FED p e CIX,Y]ISHITLTp(X,Y) =p(5,7) Bk r>Z &
ZRL RS0,
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RIEE 7.4 27 ClE, B W RUITHAIC2IFou[iR 2453 2 & 1C
LET,
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BARE 7.5. Z DA T T7IVnZ INZEA T TR LDFE, n=0 XFn M
FROLETHLZ EBRLR S,

B 7.6. lRROAFT 7V I ROEH LN, Rh+1=R &z
olE. h ORISR AL R/ Ou[WIETH L Z L BRLIR S,

RIRE 7.7. I R ot kA F7 0V I 85 a6z &, R/IIFEKTH
52k, ROMEFTRLRE W,
(1) R OALEDTT AL T, RA+11F 1 Z2EAEGE L TET
ATTNTHD,
(2) Rh+1I=1 < hel.
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RERE 7.8. e kA T 7 IWIIZA T TN THDLZ LR L&,

BRE 7.9. (1) ZDAT 7NV nZ mZ (n,m FIEDOEI) 12D\ T,
nZoO>mZ < mliEn OFBRHTH S

ERLL S,
(2) Z DM KA T 7 IV T RTRDIR I,

FERE 7.10. Z[X] DA T 7NV [ = (X) FFEAT TN TH - T, MkA
FITVIVTITINnZ &R LR &,

FI8E 7.11. IKD Z[V2] DA FT7IVEFEA F TN EIPEZ R E N,
(1) Iy = (5)
(2) Ia=(7)

f9%8 7.12. (1) C[X] DA F 7V (X2—49, X2~ 15X +56) | C[X]
DMRKATTNTHDLZ L LRLIRE N,
(2) CIX,)Y] A4 T 7)) (X -5, Y —7) 1% C[X,Y] oMK AT 7 I
THLZHRLARE N,

RARE 7.13. IO OMEEMNELG f R— S W52 o6h/izeLEd, 2
DEF I WS DFEATTNIES, fFUD) T ROFATTNTHDL I L
ZRLIR S0,
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(1) f: R— S 3P DR O MERNE A,

(2) I1& S otk A 77,

(3) f71I) & R ot kA T 7 IV TRy,
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(1) deg(f) = deg(g) = 2.

(2) deg(fg) = 3(< deg(f) + deg(g)).
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